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P |AP|+|BP|=L

J(R=r)?+H? WL\/(R—rcos(P?i))2 +(rsin(%i))2 +H?=L 3.1
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1

R® =50

1

r

(k; -1)

20

(20.828, 6.0751)

1 | (41.6559, 0) 2 | (36.0751, 20.828)
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n
8
A :
T ? 8
X2+ H? + (szin(—)j +H? =L
n
x =|BO)| n+1
ABCD:--- S, ~ 5,500, = NXCOS(2)sin(Z)
n n
S n .
E, =—=—xcos(£)sm(£) 2
n+l n+1 n n
2

n 3 4 5 6 7 8

E, 0.32476 0.41 0.396274 | 0.371154 | 0.342051 | 0.31427
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Y2 HHZ 4+ y X2+ H2 =40,/ (x—y)2 + H2 +/(2x-y)2 +H? =40,

x 18.9037 y 11.8861
3.3.2
1<

r

r = H x tan(2* 7 /180) = 10 x 0.03492 = 0.3492(m)
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12 18 18
3
n
(9.63, 9.63) |6 | (28.89,9.63)
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20 | (43.648,24.388)

21

(35.355,35.355)

22 | (24.388,43.648)

23

(9.63,48.15)

N

12
3

1996.5 P88 P95.

22 2
1979.

1994 P32 P40.




	参考文献

